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Q.11 Select the precaution that must be taken while normalizing steel.
Ans X 1. The component must be cooled in a dry air with forced circulation

75 2. The component must be cooled in a wet air
4' 3. The component must be coaled In air with no circulation

x 4. The component must be cooled in a dry air with natural circulation
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Q.13 Movement of the spindle towards and away from the column takes place in:
Ans X 1 pillar drilling machine

25 2. gang drilling machine
X 3. sensitive bench drilling miachine

I 4. radial drilling machife
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Q.21 In a lathe machine, if drive is transmitted to saddle from the feed shaft, then the tool will

move in:
Ans X 1. circular direction
J 2. longitudinal direction

x 3. angular direction

K 4. transverse direction
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Q.32 Calipers which are available with the heel or usual bent leg are known as:
Ans x 1. firm joint calipers

X 2. firm and spring joint calipers
x 3. spring joint calipers
f 4. hermaphrodite calipers
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Q.36 For M 20 x 1.5 threads, the numerical number 20 represents the .
Ans f 1. major diameter of the thread

x 2. minor diameter of the thread

X 3. pitch

x 4. pitch diameter of the thread
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Q.37 Tempering of hardened steel decreases its:
Ans  of 1 prittleness

x 2. shock resistivity

x 3. machinability
X 4. ductility
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Q.38 Lower speed range of a drill is used ror:
Ans J 1. mifimum tool wear

X 2. higher rake angle

75 3. better finish

X 4. soft materials
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Q.39 In the honing process, the tool is:
Ans x 1. given reciprocating motion

x 2. given rotary motion
x 3. kept stationary

f 4. given reciprocating and rotary motion
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Q.41 Name the lathe machine operation shown in the given figure.

Ans X1 Checking speed of the live centre
¢ 2, Checking trueness of the live'gentre
X 3. Checking hardness of the live centre

#< 4. Checking hardness of the tool
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Q.42 Penning nut is also known as:
Ans O 1 sawn nut

« 2. grooved nut
25 3. castle nut
?( 4. slotted nut
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Q.62 Materials which shows direction dependent properties are known as:
Ans X' 1 orthotropic materials

x 2. isotropic materials
x 3. homogeneous materials

J 4. anisotropic materials
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Q.66 Percentage of iron in wrought iron is about:
Ans X' 1,50 percent

{ 2. 99.5 percent
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Q.86 Nodular cast iron is also known as:
Ans J1 spheroidal graphite iron
x 2. gray cast iron

X 3. white cast iron

X 4. brittle cast iron
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Q.92 Which of the following is highly ductile steel?
Ans (' 1 Medium carbon steel

x 2. High carbon steel
X 3. Mild steel

J 4. Dead mild steel
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Q.96 The product obtained from a blast furnace is:
Ans x 1. iron ore

« 2. pig iron

x 3. lime stone

?( 4. cast iron
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Q.114 The fit shown in the given figure Is a/an:

NN

L TSSO ToN
SHAFT

SN

Ans x 1. sliding fit

1 2. transition fin

x 3. clearance fit

X 4. interference fit
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Q.120 Stainless steel is called so because of its:
Ans J 1. high corrosion resistance
x 2. colour
x 3. high strength
25 4. high ductility
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Q.122 A good heat treated spring can be the best example of:
Ans 3 1 plasticity
X 2. brittleness

f 3. elasticity

25 4. malleability
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Q.126 Hydrodynamic journal bearing is used for:
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Q.134 Three wire method is used to:
Ans 2 1 check internal diameter

J 2. check effective diameler
x 3. check minor diameter

/X 4. check major diameter
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Q.140 The purest form of iron is:
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